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Errata  

(Updated Oct 2017) 
Monte Carlo Methods for Particle Transport, Alireza Haghighat, CRC Press, Dec 2014 

(K20567) 
Page item For Read 

Pg. xvii Line 4 “White Oak” “University Park” 

Pg. 15 Eq. 2.7 𝑞 = (𝜂) = 1 𝑞(𝜂) = 1 

Pg. 16 Eq. 2.12 𝑄(𝜂) = 𝑞(𝜂) = 

Pg. 16 Eq.  2.13 𝑞(𝜂) = 𝑄(𝜂) = 

Pg. 21 Line 1 If exact computation of p(x), i.e., pdf, is 

straightforward, 
If exact computation of 𝑃−1(𝜂) is not 

straightforward, 

Pg. 22 Eq. 2.29 

𝑃𝑖 = ∑ 𝑝′𝑖(𝑥𝑖′ −

𝑖′

𝑖′=1

𝑥𝑖′−1) 𝑃𝑖 = ∑ 𝑝𝑖′(𝑥𝑖′ −

𝑖

𝑖′=1

𝑥𝑖′−1) 

Pg. 31 Problem 5, part 

a. 
𝑓(𝑥) = 1 + 𝑥 − 𝑥3 𝑓(𝑥) = 1 + 𝑥 + 𝑥3 

Pg. 33 Problem 15, 

line 1 

Write an algorithm for sampling x from 

sin(x) 

Write an algorithm for sampling sin(x) 

Pg. 40 Fig. 3.2, 

caption 

(a) uses multipliers 5, 9, and 13 and (b) 

uses multiplier 14. 

(a) uses multipliers 9 (solid) and 13 

(dotted), and (b) uses multiplier 7 

(solid) and 14 (dotted) 

Pg. 42 Fig. 3.3, 

caption 

(a) Odd constant; (b) even constant (a) Odd contacts of 3 (solid) and 5 

(dotted); (b) even constants of 6 

(solid) and 8 (dotted) 

Pg. 44 Fig. 3.5, 

caption 

Random number generators for multipliers 

3 and 11. 

Random number generators for 

multipliers 3 (solid) and 11 (dotted) 

Pg. 46 Table 3.6 Remove the first row, i.e.,  𝑥𝑘 = 𝑥𝑘−17 − 𝑥𝑘−5    (217 − 1)𝑥224 = 2.2 𝑥 1012 

Pg. 47 Eq. (3.8) 
𝜒2 = ∑

(𝑁𝑖 − 𝑁𝑝𝑖)
2

𝑁𝑝𝑖

𝑛

𝑖

 𝜒2 = ∑
(𝑁𝑖 − 𝑁𝑝𝑖)2

𝑁𝑝𝑖

𝑛

𝑖=1

 

Pg. 52 Table 3.11,  

First row, 8th 

column 

50% 25% 

Pg. 52 Line 5 Indicates that the seed can significantly Indicates that the constant can 

significantly 

Pg. 52 Last Line  12, 14, and 16 18, 20, and 22 

Pg. 52 Table 3.12,  

First row, 2nd 

column 

11 17 

Pg. 53 Line 1 “25% periods.” “partial periods.” 

Pg. 53 Line 10 “Table 3.14” “Table 3.12” 
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Pg. 53 Line 12 “Case 11” “Case 17” 

Pg. 53 Line 13 “Case 12” “Case 18” 

Pg. 53 Line 14 “Case 11” “Case 17” 

Pg. 53 Line 19 “Cases 11 and 18” “Cases 17 and 18” 

Pg. 53 Line 21 “(Case 11 especially)” “(Case 17 especially)” 

Pg. 53 Fig. 3.6, 

caption 

“(a) Case 11” “(a) Case 17” 

Pg. 54 Fig. 3.6, 

caption 

“(a) Case 11” “(a) Case 17” 

Pg. 54 Line 1 “Case 20” “Case 23” 

Pg. 54 Line 2 “Cases 1 and 2” “Cases 17 and 18” 

Pg. 54 Fig. 3.7, 

caption 

“Case 20” “Case 23” 

Pg. 66 Line 3 “Equation (4.20)” “Equation (4.23)” 

Pg. 66 Line 5 “Equation (4.21)” “Equation (4.15)” 

Pg. 74 Line 9 ln 𝑃(𝑛) = ⋯ ln 𝑝(𝑛) = ⋯ 

Pg. 74 Line 10 “𝑃(𝑛)” “𝑝(𝑛)” 

Pg. 75 Eq. (4.51) For: 
ln(𝑃(𝑛)) = ln(𝑃(𝑛̃)) +

1

2!
[
𝑑2(ln(𝑃(𝑛))

𝑑𝑛2 ]
𝑛̃

(𝑛 − 𝑛̃)2 

  Read: 
ln(𝑝(𝑛)) = ln(𝑝(𝑛̃)) +

1

2!
[
𝑑2(ln(𝑝(𝑛)))

𝑑𝑛2 ]
𝑛̃

(𝑛 − 𝑛̃)2 

Pg. 76 Eq. (4.55) ∑ 𝑃(𝑛) = 1

𝑛

 ∑ 𝑝(𝑛) = 1

𝑛

 

Pg. 76 Eq. (4.59) 𝑃(𝑛) = ⋯ 𝑝(𝑛) = ⋯ 

Pg. 81 Line -4 Pr[|𝑝′ − 𝑝| <   ] =? Pr[|𝑝′ − 𝑝| < 𝜀] =? 

Pg. 81 Eq. (4.67) 
Pr [|

𝑥

𝑛
− 𝑝| <   ] =? Pr [|

𝑥

𝑛
− 𝑝| < 𝜀] =? 

Pg. 82 Eq. (4.68) |
𝑥

𝑛
− 𝑝| < |

𝑥

𝑛
− 𝑝| < 𝜀 

Pg. 82 Eq. (4.69) 

|
𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
| < √

𝑛

𝑝𝑞
 |

𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
| < √

𝑛

𝑝𝑞
𝜀 

Pg. 82 Line 6 For: 

−√
𝑛

𝑝𝑞
≤

𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
≤ √

𝑛

𝑝𝑞
 

  Read: 

−√
𝑛

𝑝𝑞
𝜀 ≤

𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
≤ √

𝑛

𝑝𝑞
𝜀 
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Pg. 82 Eq. (4.70) For: 

Pr [|
𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
| ≤  √

𝑛

𝑝𝑞
    ] = Φ (√

𝑛

𝑝𝑞
   ) − Φ (−√

𝑛

𝑝𝑞
   ) 

  Read: 

Pr [|
𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
| ≤  √

𝑛

𝑝𝑞
 𝜀] = Φ (√

𝑛

𝑝𝑞
𝜀) − Φ (−√

𝑛

𝑝𝑞
𝜀) 

Pg. 82 Line -10 For: 

Φ (−√
𝑛

𝑝𝑞
   ) = 1 − Φ (√

𝑛

𝑝𝑞
   ) 

  Read: 

Φ (−√
𝑛

𝑝𝑞
𝜀) = 1 − Φ (√

𝑛

𝑝𝑞
𝜀) 

Pg. 82 Eq. (4.71) For: 

Pr [|
𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
| ≤  √

𝑛

𝑝𝑞
    ] = 2Φ (√

𝑛

𝑝𝑞
   ) − 1 

  Read: 

Pr [|
𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
| ≤  √

𝑛

𝑝𝑞
𝜀] = 2Φ (√

𝑛

𝑝𝑞
𝜀) − 1 

Pg. 82 Eq. (4.72) 

|

𝑥
𝑛

− 𝑝

𝑝
| <     |

𝑥
𝑛

− 𝑝

𝑝
| < 𝜀 

Pg. 83 Line 3 

|
𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
| < √

𝑛

𝑝𝑞
 |

𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
| < √

𝑛

𝑝𝑞
𝜀 

Pg. 83 Line 3 

|
𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
| < √

𝑛

𝑝𝑞
𝜀 |

𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
| < √

𝑝𝑛

𝑞
𝜀 

Pg. 83 Eq. (4.73) For: 

Pr [|
𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
| ≤  √

𝑛

𝑝𝑞
    ] = 2Φ (√

𝑛

𝑝𝑞
   ) − 1 

  Read: 

Pr [|
𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
| ≤  √

𝑛

𝑝𝑞
𝜀] = 2Φ (√

𝑛

𝑝𝑞
𝜀) − 1 

Pg. 83  Eq. (4.73) For: 

Pr [|
𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
| ≤  √

𝑛

𝑝𝑞
𝜀] = 2Φ (√

𝑛

𝑝𝑞
 𝜀) − 1 

  Read: 

Pr [|
𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
| ≤  √

𝑛𝑝

𝑞
𝜀] = 2Φ (√

𝑛𝑝

𝑞
𝜀) − 1 
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Pg. 85 Line 6 For: 

pr≡Pr [|
𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
| < √

𝑛𝑝

𝑞
 ] 

  Read: 

pr≡Pr [|
𝑥 − 𝑛𝑝

√𝑛𝑝𝑞
| < √

𝑛𝑝

𝑞
𝜀] 

Pg. 85 Eq. 4.75 𝑛

=
𝑞

𝑝
(

1

𝜀2
) 𝜙−1 (

1 + 𝑝𝑟

2
) 

𝑛 =
𝑞

𝑝
(

1

𝜀2
) [𝜙−1 (

1 + 𝑝𝑟

2
)]

2

 

Pg. 85 Fig. 4.9,caption “(  =1%)” “(𝜀=1%)” 

Pg. 88 Eq. 4.83 (first 

part of the 

equation) 

For: 
𝑅𝑥̅ =

𝑅𝑥

𝑛
= 

  Read: 
𝑅𝑥̅ =

𝑅𝑥

√𝑛
= 

Pg. 90 Eq. (4.90) For:  
𝑚 = 𝐸[𝑡] = ∫  𝑡𝑓𝑘(𝑡) = 0

∞

−∞

 

  Read: 
𝑚 = 𝐸[𝑡] = ∫ 𝑑𝑡 𝑡𝑝𝑘(𝑡) = 0

∞

−∞

 

Pg. 91 Eq. (4.93) For: 
lim

𝑘→∞
[𝑓𝑘(𝑡)] = 𝜙(𝑡) =

1

√2𝜋
𝑒

𝑟2

2  

  Read: 
lim

𝑘→∞
[𝑝𝑘(𝑡)] = 𝜙(𝑡) =

1

√2𝜋
𝑒

−𝑡2

2  

  
  

Pg. 95 Problem 10, 

line 2 ∑ 𝑒− ∑ 𝑟 Σ𝑒−Σ𝑟  

Pg. 96 Caption of 

Table 4.4 
Probability table for Problem 7 Probability table for Problem 13 

Pg. 96 Problem 15, 

line 2 
Σ = 2.0  Σ = 2.0 𝑐𝑚−1 

Pg. 96 Problem 15, 

line 4 
𝑝(𝑟) = ∑ 𝑒− ∑ 𝑟 𝑝(𝑟) = Σ𝑒−Σ𝑟  

Pg. 103 Eq. (5.18) For: 
−

𝑔2(𝑥)𝑓2(𝑥)

𝑓2(𝑥)
+ 𝜆 = 0 

  Read: 
−

𝑔2(𝑥)𝑓2(𝑥)

𝑓∗2(𝑥)
+ 𝜆 = 0 

Pg. 106 After Eq. 

5.30, line 3 
𝑉𝑎𝑟[𝑔(𝑥) − ℎ(𝑥)] ≪ 𝑉𝑎𝑟[𝑓(𝑥)] 𝑉𝑎𝑟[𝑔(𝑥) − ℎ(𝑥)] ≪ 𝑉𝑎𝑟[𝑔(𝑥)] 

Pg. 114 Line 11 “per internal.” “per interval.” 

Pg. 122 Line 1 “birth to birth” “birth to death” 

Pg. 122 After Eq. 6.1, 

line 3 
∑

𝑡
 Σ𝑡 
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Pg. 122 After Eq. 6.1, 

line 6 
∑

𝑠
 Σ𝑠 

Pg. 123 Eq. 6.2 For: 
𝜇

𝜕𝜓(𝑥, 𝜇)

𝜕𝑥
+ Σ𝑡(𝑥)𝜓(𝑥, 𝜇) =

1

2
(Σ𝑠𝜑(𝑥) +  𝑆(𝑥, 𝜇)) 

  Read: 
𝜇

𝜕𝜓(𝑥, 𝜇)

𝜕𝑥
+ Σ𝑡𝜓(𝑥, 𝜇) =

1

2
Σ𝑠𝜙(𝑥) +  𝑠(𝑥, 𝜇) 

Pg. 123 After Eq. 6.3, 

line 2 
∑

𝑡
= ∑

𝑠
+ ∑

𝑎
 Σ𝑡 = Σ𝑠 + Σ𝑎  

Pg. 124 Last line ∑ 𝑑𝑟
𝑡

 Σ𝑡𝑑𝑟 

Pg. 125 Eq. 6.6 ∑ 𝑑𝑟
𝑡

 

𝑟 = −
−𝑙𝑛𝜂

∑𝑡
 

Σ𝑡𝑑𝑟 

𝑟 = −
−𝑙𝑛𝜂

Σ𝑡
 

Pg. 125 After Eq. 6.6, 

lined 4 & 6 
∑

𝑡
 Σ𝑡 

Pg. 125 Eq. 6.7 b = ∑ 𝑟
𝑡

=  −𝑙𝑛𝜂 b = Σ𝑡𝑟 =  −𝑙𝑛𝜂 

Pg. 125 Eq. 6.8 𝑏𝑚−1 ≤ −𝑙𝑛𝜂 < 𝑏𝑚 

where, 𝑏𝑚 = ∑(∑ 𝑟𝑖)
𝑡,𝑖

𝑚

𝑖=1

 

𝑏𝑚−1 < −𝑙𝑛𝜂 ≤ 𝑏𝑚 

where, 𝑏𝑚 = ∑ Σ𝑡,𝑖𝑟𝑖

𝑚

𝑖=1

 

Pg. 125 Eq. 6.9 
𝑟 =

−𝑙𝑛𝜂 − 𝑏𝑚−1

∑𝑡,𝑖
 𝑟 =

−𝑙𝑛𝜂 − 𝑏𝑚

Σ𝑡,𝑚
 

Pg. 126 Lines 8 & 9 ∑ /Σ𝑡
𝑎

 Σ𝑎/Σ𝑡 

Pg. 127 Line -2 “solid angle theta,” “solid angle,” 

Pg. 130 Line 7 “and is expressed by” “and Ω̂′ is expressed by” 

Pg. 134 Eq. 6.27 
𝑅1

𝑅2
=

(𝜎𝑥)1

(𝜎𝑥)2
√

𝑁2

𝑁1
 

𝑅1

𝑅2
=

(
𝜎𝑥
𝑥̅

)
1

(
𝜎𝑥
𝑥̅

)
2

√
𝑁2

𝑁1
 

Pg. 134 After Eq. 6.27, 

line 2 

(𝜎𝑥)1 = (𝜎𝑥)2 (
𝜎𝑥

𝑥̅
)

1
= (

𝜎𝑥

𝑥̅
)

2
 

Pg. 134 Eq. 6.29 
𝐹𝑂𝑀 =

1

𝑅𝑥̅
2𝑇

=
1

𝜎𝑥
2

𝑁
𝑇

 𝐹𝑂𝑀 =
1

𝑅𝑥̅
2𝑇

=
1

𝜎𝑥
2

𝑥̅𝑁
𝑇
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Pg. 134 After Eq. 6.29, 

line 1 
𝜎𝑥 𝜎𝑥

𝑥̅
 

Pg. 135 Eq. 6.32 𝐹𝑂𝑀1

𝐹𝑂𝑀2
=

(𝜎𝑥̅
2)

2

(𝜎𝑥̅
2)1

𝑇2

𝑇1
 

𝐹𝑂𝑀1

𝐹𝑂𝑀2
= (

𝑅𝑥̅,2

𝑅𝑥̅,1
)

2
𝑇2

𝑇1
 

Pg. 135 Eq. 6.33 
𝑇2 =

(𝜎𝑥̅
2)

1

(𝜎𝑥̅
2)2

𝑇1 𝑇2 = (
𝑅𝑥̅,1

𝑅𝑥̅,2
)

2

𝑇1 

Pg. 137 Problem 5, line 

2 

For the following a 3-region shield For the following 3-region shield 

Pg. 139 Line 1 “Chapter 4” “Chapter 6” 

Pg. 141 Title of Section 

7.3 

Biasing of density function Biasing of probability density function 

Pg. 143 Eq. (7.12) For: biased pdf = (Σ𝑡 − 𝑐𝜇)𝑒−(Σ𝑡−𝑐𝜇)𝑟 

  Read: 𝑝𝑑𝑓biased = (Σ𝑡 − 𝑐𝜇)𝑒−(Σ𝑡−𝑐𝜇)𝑟 

Pg. 145 Eq. 7.19 For: 
𝑟 = −

1

Σ𝑡
ℓ𝑛[1 − 𝜂(1 − 𝑒)−Σ𝑡𝑢] 

  Read: 
𝑟 = −

1

Σ𝑡
ℓ𝑛[1 − 𝜂(1 − 𝑒−Σ𝑡𝑢)] 

Pg. 152 Eq. (7.34) For: 
𝜓(𝑝) = ∫ 𝑑𝑃′𝐾( 𝑝′ → 𝑝)𝜓(𝑝′) + 𝑞(𝑝)   

  Read: 
𝜓(𝑝) = ∫ 𝑑𝑝′𝐾( 𝑝′ → 𝑝)𝜓(𝑝′) + 𝑞(𝑝)   

Pg. 154 Eq. 7.41 For: 
𝑞+(𝑟̅, 𝐸, Ω̂) =

𝜎𝑑(𝑟̅, 𝐸, Ω̂)

∫ 𝑑𝐸′ ∫ 𝑑Ω̂′𝜎𝑑(𝑟̅, 𝐸, Ω̂)𝜓(𝑟̅, 𝐸′ , Ω̂′)
4𝜋

∞

0

, 

  Read: 
𝑞+(𝑟̅, 𝐸, Ω̂) =

𝛴𝑑(𝑟̅, 𝐸, Ω̂)

∫ 𝑑𝐸′ ∫ 𝑑Ω̂′𝛴𝑑(𝑟̅, 𝐸, Ω̂)𝜓(𝑟̅, 𝐸′, Ω̂′)
4𝜋

∞

0

, 

Pg. 163 Line -7 “counterarray” “counter array” 

Pg. 166 Eq. 8.19 For: 

𝜙(𝑟𝑖̅, 𝐸𝑗) =
∑ 𝑝(𝑖, 𝑗, 𝑘)𝐾

𝑘=1

𝐻∆𝑉𝑖∆𝐸𝑗
{

𝑐𝑚3 − 𝑒𝑉 − 𝑠
𝑠𝑜𝑢𝑟𝑐𝑒

𝑠

} 

  Read: 

𝜙(𝑟𝑖̅, 𝐸𝑗) =
∑ 𝑝(𝑖, 𝑗, 𝑘)𝐾

𝑘=1

𝐻∆𝑉𝑖∆𝐸𝑗
{

𝑝𝑎𝑡ℎ − 𝑙𝑒𝑛𝑔𝑡ℎ(𝑐𝑚)
𝑐𝑚3 − 𝑒𝑉 − 𝑠

𝑠𝑜𝑢𝑟𝑐𝑒
𝑠

} 

Pg. 171 Fig. 8.4 REPLACE (attached) 

Pg. 183 Line 3 from 

bottom of the 

page 

Cell 1: +1 ∩ (−2 ∩ −3) ∩ −7 ∩ +8 Cell 1: +1 ∩ (−2 ∪ −3) ∩ −7 ∩ +8 
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Pg. 194 Eq. – (first on 

page) 

For: 

𝐻 = Ω̂ ∙ ∇ + ∑ (𝑟̅, 𝐸)
𝑡

− ∫ 𝑑𝐸′
∞

0

∫ 𝑑Ω′

4𝜋

∑ (𝑟̅, 𝐸′ → E, 𝜇0)
𝑠

 

  Read: 

𝐻 = Ω̂ ∙ ∇ + Σ𝑡(𝑟̅, 𝐸) − ∫ 𝑑𝐸′
∞

0

∫ 𝑑Ω′

4𝜋

Σ𝑠(𝑟̅, 𝐸′ → E, 𝜇0) 

Pg. 194 Eq. – (second 

on page 

For: 

𝐹 =
𝜒(𝐸)

4𝜋
∫ 𝑑𝐸′

∞

0

∫ 𝑑Ω′

4𝜋

𝜈 ∑ (𝑟̅, 𝐸′)
𝑓

 

  Read: 

𝐹 =
𝜒(𝐸)

4𝜋
∫ 𝑑𝐸′

∞

0

∫ 𝑑Ω′

4𝜋

𝜈𝛴𝑓(𝑟̅, 𝐸′) 

Pg. 198 Eq. 10.11 𝑃(𝑛 − 1) ≤ 𝜂 ≤ 𝑃(𝑛) 𝑃(𝑛 − 1) < 𝜂 ≤ 𝑃(𝑛) 

Pg. 200 Table 10.1,  

Item 6b, Line 2 

“Equation (10.9)” “Equation (10.18)” 

Pg. 201 Line 13 “k = 1.3” “k = 1.2” 

Pg. 201  Line 13 “1m000” “1,000” 

Pg. 202 Table 10.4,  

Item 5, Line 2 

“ (10.8) and (10.10)” “(10.17) and (10.19)” 

Pg. 203 Eq. 10.22 
𝑆 = 𝑤

Σ𝑘𝑓𝑘𝜈𝑘̅̅̅̅ Σ𝑘

Σ𝑘𝑓𝑘Σ𝑘
 𝑆 = 𝑤

∑ 𝑓𝑘 𝜈̅𝑘Σ𝑓𝑘𝑘

∑ 𝑓𝑘Σ𝑡𝑘𝑘
 

Pg. 203 Eq. 10.23 
𝑆 = 𝑤

𝜈̅Σ𝑓𝑘

Σ𝑎𝑘
 𝑆 = 𝑤

∑ 𝑓𝑘 𝜈̅𝑘Σ𝑓𝑘𝑘

∑ 𝑓𝑘Σ𝑎𝑘𝑘
 

Pg. 203 Eq. (10.24) 𝑆 = 𝑤 ∙ 𝛼 ∙ 𝑑 ∑ 𝑓𝑘𝜈̅𝑘

𝑘

Σ𝑓𝑘 𝑆 = 𝑤 ∙ 𝑑 ∑ 𝑓𝑘𝜈̅𝑘

𝑘

Σ𝑓𝑘 

Pg. 203 Line after Eq. 

10.24 

where α refers to atomic density of 

material and d is the path length from the 

last collision.  

where d is the path length from the last 

collision. 

Pg. 204 Line -4 “Equation (10.23)” “Equation (10.25)” 

Pg. 207 Line -11 “Equation (10.27)” “Equation (10.29)” 

Pg. 207 Line -8 “Equation (10.27)” “Equation (10.29)” 

Pg. 209 Eq. 10.32(+1) For: 
𝐹̃ =

1

4𝜋
∫ 𝑑𝐸′

∞

0

∫ 𝑑𝛺′

4𝜋

𝜈𝜎𝑓(𝑟𝑖̅, 𝐸′) 

  Read: 
𝐹̃ =

1

4𝜋
∫ 𝑑𝐸′

∞

0

∫ 𝑑𝛺′

4𝜋

𝜈𝛴𝑓(𝑟𝑖̅, 𝐸′) 
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Pg. 209 Eq. 10.34a 
𝐹𝜓 =

1

𝑘
(𝐹̃𝐻−1𝜒)𝐹̃𝜓 𝐹̃𝜓 =

1

𝑘
(𝐹̃𝐻−1𝜒)𝐹̃𝜓 

Pg. 210 Line 9 “Equation (10.35b)” “Equation (10.34b)” 

Pg. 211 Line 4 “Equation (10.35)” “Equation (10.36)” 

Pg. 252 Line -5 “ u and u’ ” “ μ and μ’ ” 

Pg. 252 Eq. A3.12 For: 
𝑢′ = 𝑢𝜇0 + √1 − 𝑢2√1 − 𝜇0

2 cos 𝜑0 

  Read: 
𝜇′ = 𝜇𝜇0 + √1 − 𝜇2√1 − 𝜇0

2 cos 𝜑0 

Pg. 258 Eq. A5.10 For: 

𝑓(𝐸) =  
2

√𝜋

1

𝐾𝑇
√

𝐸

𝐾𝑇

−
𝐸

𝐾𝑇

 

  Read: 

𝑓(𝐸) =  
2

√𝜋

1

𝐾𝑇
√

𝐸

𝑘𝑇
𝑒−

𝐸
𝑘𝑇 

 

 


